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| Semester B.Com. Examination, November/December 2018
(CBCS) (2014-15 and Onwards) (F + R)
COMMERCE
1.6b : Methods and Techniques for Business Decisions

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be completely either in English or in
Kannada.

SECTION - A

Answer any five sub-questions. Each sub-question carries two marks. (5x2=10)

1. a) Find G. M. between 9 and 16.

b) Find HCF of 165, 231 and 550.

¢) Give the meaning of Equation.

d) Is 101 aterm of the series 5+ 7 + 9. N7

e) FindA+BifA=| 2 © B=| 1 C
0 -2 0 1

f) Find out fourth proportional to the number 12, 16, 18.

g) Out of debt of Rs. 50,000, Rs. 18,000 has been paid what percent of the
debt still remains unpaid ?

SECTION - B
Answer any three questions. Each question carries six marks. (3x6=18)

2. Simplify: X=1,X-2_x-3
14 " 21 7

3. A sum of 3 numbers in A.P. is — 24 and their product is.288. Find the numbers.

4. Solve by Cramer’s Rule 5x + 3y =1
3X+5y+9=0

5. Solve the equation through elimination method.
XY XY q_0o

45 5 4
P.T.O.
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6. A man had a certain sum of money. He gave 20% of it to his eldest son, 30%
of the remaining to his younger son and 10% of the remaining for poor boys
in a school. Still he has Rs. 10,000 with him. Find his total sum.

SECTION -C
Answer any three questions. Each question carries 14 marks. (3x14=42)
7. a) Find the number of terms and the common difference in the series when
the first term is 5, the last term is 24 and the sum is 290.
8 4
b) If matrix A= and B= 9i7é show (AB)' =B’ A'.
12 16 6 2
8. a) The third term of G. P. is 12 and 6" term is 96. Find the sum of 4 terms
and common ratio.
b) Solve through formula method x + Jw 23 .
X 10
: , . 8 4
9. a) Find the inverse of Matrix A = ) 5|
b) Alady invested a total sum of Rs. 9,500 in two different Banks which give
; ‘.
5% and 7—2-% simple interest. If both the amounts are going to be equal
in 7 years. Find the individual investment.
6 -2 4
10. a) Solve for Xif |[x 2 -1 =0.
-5 3, X
b) 5 goldsmith can earn Rs. 48,000 in 6 days and working 8 hours per day.
How much will 8 goldsmith earn in 12 days working 6 hour per day ?

11. a) A, B and C enter into partnership with Rs. 50,000, Rs. 30,000 and
Rs. 20,000 respectively. A and B get 20% and 10% of the profit for special
efforts and the balance is share in capital ratio. In total if A receives
Rs. 6,000 more than B. How much does each receive ?

b) The difference between Banker’s discount and true discount on a bill due

after 6 months at 4% p.a. interest being Rs. 20. Find.
1) True discount 3) Present value
2) Banker’s discount 4) Face value of Bill
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QPN — D

BRRTTTR DR PVT-T,I NN GOk, B8 LVT-H,T; 3m QTR LOBNTL. (5%2=10)

1. a) 903 163 SRDT WoIRTLT WG, 0FBRTR), TETOLECWD.
) 165, 231 53023 550 B0s3, ¥ 330.79. 8. FORLLAWD.

) BAEITED DOTITERD ?

) 101 Boa3, 0305 +7 +9 .. . FRWH0TT 3 e300, qTsdde ?

o o O

;0 1
e) A= 0 15[ O] oo A+ B cooms zomsmBcsD.
0 -2 0 1] «

f) 12,16, 18 S To0R AROTLR), FOTLERWO.
g) 50,000 Te. xS, 18,000 Sp. HOBTINFLRNT. SN TROT TR, FFTETIT
Q?@fg T8 QUPRT ?

PN — W

03RTRTEER 3 T3 RYR YUgOR. T,803R0T0 B3R 6 LosNs. (3x6=18)

%1 LX= 2_x-3
14 " 21

| ARRER0ST B ecSeh TR 3 Rl ne g — 24 T8y SR o, 288 SNTY
& B083,M¥RY FomOHROWD.

. ROPETOA !

\I

.8 meidwﬁo D) 5@6 SRS &,590 TRERO

5x + 3y =1
3x+5y+9=0

. 3RO TBOD az:é)@odo@m%@ﬁs RETTETIY, WRA.
B LoX d o0
4 5 5 4

W) 3,803 B3, WY QTR INDT BeIT3E), Beses 20 d&wéoéodo SONIN BRWRITS.
033 VPOTOR BT Bess 30 d'&o 3003 TN BRTITN. T0T LVPTOR
BTG, 3e3@ 10 TR, oS WE coaczbﬁéﬁ BRETOT. wucﬁdfa ORD WY
gn. 10,000 |3083. wmcﬁd SRT WY BT 2, BRZBI, fOCgJoo@vf)Jb
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QLN — 2
QIRYTOTTR R n:gzgﬁ@ﬁ YVZOR. T8 @%ﬁ 14 es03neh. (3x14=42)

7. a) 0T ARRT033 3,800 Bremes 3 083,03 5, 3R 7083, 0300 24 ==

10.

11.

3,ee303 B g 290 @ﬁdd 3 G?’?OD’JCQAUJS ‘“57ﬁ\§?&3{ RSS! m:uw 3 o) 735'\)3
5053380@30&@

g I L (AB) = B' A’ 05035 2603,
12 16 o 6 2
rORReET B, eedodd 3Fe T 12 O 63¢ T 96 =TT mmg ,30959 NSCY
L) mmf dfa?:ﬁ: BORIGEON0,
&@36@@0@5&6% X+ — 1 _2_9_
- X 10
s 8 4
NERCT) xogcaagcdzéws% FOR&EBOWD A :[2 ZJ'
1
22 0&% 35 WY QT TwR. 9,500 ALES ﬁméd@q 5@ 5 msg 7—=%
*’d%f aﬁm b&%vdacf) QTR 23e3 3e (ol v%ﬁ@ Bewmed A&éidm_;d. 3 A0
Sesseantsd 7 wm—web AT m-xm 5@@33 TIMOTT &8 13,033,
BeTe3 IRBT eaﬁuo ?
6 -2 4
X & 8 sombomono | x 2 -1 =0.
5 3 x
S BT WOMTH 30T BREISSS) 6 OINYY =808 8 noed 3o pYE

48,000 on. TT\-P)?’)J NO@@r\D@d AR303 8 =3 12 @371\:3% \,&@C\)S 6 roe3
FOT IR ww@ A)O Cﬁwaad '?

50,000 cw»., 30,000 Tn; &02) 20,000 3. RL0OR A, B @03 C wom
mwmaéo\pﬁo TR RATITO. o“a:ics 20% WY 10% dw@ A Sﬁ* B A
DJeR mcdars*ﬂ é‘m&famom VYT @wwm 'fm ?Noca’w\%fcd 3 ME“CSJ
wozsi.@»ﬁoaed wmo A B ~Acg 6,000 TN as'm Nlelnte} wé z\gprv\
mm :’irau@m N‘&\.Q mmdﬁa FOWOEBOD,

3, oéﬁ ARes muo % K¢ Eémf 3, 82,3y 20 TR. &N, & a-o‘ooéscﬁa?bq ez
43036 sonert v’rﬁoﬁa@aﬁw DTS

1) JxAnea 3) &3 233
2) w3,0803 Bped 4) =303 aj’davbss% BORI&HBOD
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